t i RHOBH(ADER)

ZHI: AICG:_ AO7:
(—10)* +(-3) = 3 +9=
(—10)7 +(=3) = 8 +(—1) =
(—10)2 + (-1) = 4* -9 =
D)V +(-10) = 1002 +3=
(—10)2 —3 = 1D 4 (—4) =
6D +(-2) = 9+3=
30+ 6= (—8)* +2 =
70— (—6) = (-9~ (-2) =
(—5)+ 6= 8D —(-5) =
1+6= (-5 —1=
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OF Wi IEROE (O

LR HICB:._ 237:
(—10)* + (-3) = 97 32+9=18
_ 299 99
IO H(D) = (759) = (2755) B+ (1) =63
99
— (—2) +(—1 = (— 2 _
301 1
_ (-2) — —
1)+ (-10) = (-11) 10°7%37 700 ~ 100
299 99
—2 _ _ _
(10)™ =3=(155) = 2700 1D+ (4) = (-3)
_ 11 5
6' 1)+(_2):(_€):(_18) 9+3=12
3V +6=7 (—8)2 +2 =66
_ 43 1
TV = (-6)= — = 63 (=9)* — (-2) = 83
gD —(—5y = A _ 51
(=5)+6=1 (75)=+ =53
_ 6 1
1+6=7 () -1=(2)=(13)
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